o2 & o I & A
K65 D1 20233 128 12FH 20233 123 312K
NI 54 01 : 2022E 18 128H 20225 123 3120k

AEMRTASIAIR O E50|1Y (Sl : BHOHR)
ni; = =4 M 55 () 21 Ml 54 (&) 21
.o 2 A 29 258,935,494 302,231,360
.0 & & Ot 21 180,388,580 190,041,770
.0 £ &0l & 78,546,914 112,189,590
ZHHdI2k2teld] 21,22 71,979,938 68,812,960
v.g &g 0ol « 29 6,566,976 43,376,630
Jl B = ¢ 23 1,180,448 1,962,071
JI Bt HI 2 23 1,083,327 1,790,176
A=2dol 9 887,550 1,090,643
=8 = ¢ 24 16,100,148 20,828,995
=& H 2 24 12,645,530 19,027,689
V. HelMBIEXZE =012 11,006,265 46,440,474
HolMd & (=2) 25 (4,480,835) (9,213,608)
VL. EJl=01Y 15,487,100 55,654,077
N1 ARF=X2 14,473,401 54,730,018
HIXIBHXIZ 1,013,699 924,059
ViL = & 0l & 26
JZ2=E0|ol(SH2 ) 2,131 8,057
S| AMZ=H012U(ErR &) 2,131 8,057
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AT AN AN
X 5501 : 2023 12 12U2E 2023 122 312K
5471 : 20224 12 1] 200244 1221 31K
AEETIFABIAIRL O B2 (ECRCTLIE)
o ES = M 55 (2) 0l H 54 (&) 2|
=BT 15,487,100 55,654,077
Il §IZI|EIE B 3,350,311 4,005,664
SN0 |20 SRIX| o E2aol 665,943 (822,137)
1. JIEHE R0 BRIIKI S RHIE D! 6,20 1,481,001 (1,969,498)
2. 2| U BEDIA0| IR0 T X2 9,20 13,150 (6,318)
3. ZEHIOITH(RA) SRR 14,20 (828,298) 1,153,679
SN0 C|20IOR 2R 2ol 2,684,388 4,807,801
1. 201 L BED|Qi0] DIEHERZ2I0) Tt Ki 9,20 61,962 (44,192)
2. SHQIARIZEHIRIRHRIO] 20 2,621,479 4,884,886
3. H25E9I5I5 I IAEE Dol 20 %7 (12,89)
Il L2zl 18,837,411 59,659,741
TIBDIR ARFXIE 17,845,661 58,746,107
HIXIBHXI2 991,750 914,634
HE FA2 2 GATYRRIES 2RULICH
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